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- |  SECTION - A - | .

RSO T  GENERAL APTITUDE

Choose the most appropriate option, :

1.

What is the maximdm number of distinct

_of the stream in 1 hour and goes 1 km along
the current in 10 mmutes How !ong will it

handshakes that can happen in the room D

with 5 people in it ?

s

By 10
C)G:_:.
D)5_'

A train running at the speed of 60 km/hr
crosses a pole in 9 seconds. What is the |

length of the train 7
A) 120 metres__ _ '_ -

'B) 180 metres. - - .

C) 324 metres -
D} 180 metres -

The percentage profit eamed by selling |
“an article for Rs. 1,920 is equal fo the __
percentage loss incurred by selling the |
same article for Rs, 1,280. At what price |
should the article be soid to make 25% |
Coprofit? . o :

A Rs.2000

B) Rs.2,200

. C) Rs. 2,400

' Z'D) Data madequate

A bdatfﬁéﬁ@dés 2 km against the current

“take to'go'5 ke in stationary water 2.

A} 40 mmutes
B) 1 hour

- C) 1 hr15 min. .. o
D} 1hr30min_'-; IR

S The present ages’ of three persons mi

o pmpoﬂ;onsd, 7 9 Eight years ago the
sum of their ages was 56. Find thezr present_s

- ages (in years} e

A8 20_, 28-. EER e

' C) 20, 35 45

' D) None of the above Opi;ons

Atank s filled by !hree' p_ipe's- wim u'ni_form_i_'

- flow.. The first two_pipes operating:
o samultaneous[y fill the tank in the same time'
' during which the tank is filled by the third:
* pipe alone. The second pipe fills the, tank:

§ hours faster than the first pipe and 4 hours:

- - slower than the third pipe. The tlme reqwred:;'
by the first pipe is

A} B8 hours
8) 10 hours

Q) tshows
D) 30hours -

SPACE FOH HOUGH WORK




llllﬂlilllllllﬂllllilli

.7'

- _ There xs a proposa! to mcrease these seats |-
by 40%, 50% and 75% respect_syely. What |

R D) None of the above optzons :

' "A rectangular fieid is to be fenced on three '

sides Ieavmg a S|de of 20 f_eet__ uncovered.
If the area of the field is 680 sq. feet, how
many feet of fencing will be required ? -
RO - BRERIATEERN .
B) 40
C)es:

In how many di"fferent ways can the letters

of the word ‘CORPORATION' be
arranged so that the voweis always come
together ? '

A) 810

O
D) 60400 .. . :

Seats for Mathematics, Physics and
Bzology ina school are in the ratto 0f5:7.8.

will be the ratio of increased seats ?
A) 2:3:4

B)6:7:8

C)6:8:9

| T
©10. Aflagstaff 17.5m high casts a shadow of
. fength40.25 mi. The height of the building,
which casts a shadow of lerigth 28.75 m
under similar condition willbe .-
A) 10m g
B) 125m
C) 175m ' LR R _
D) 21 25m :
Fmd the odd one m the follewmg seties fcr |
Q. 11 and 12 :
11._'- 396, 462, 572, 427, 671, 264 B
A} 396 "
B) 427
C) 671
D) 2‘64” S

12. 2.8,10,17,26,37,50,64
A) 50 S
B) 26
C) 37
D) 64

13... The. differenice betweésn simple and
. compound interests compounded annually
on a certain sum of money for 2 years at
4% perannumis Re. 1, Thesum(inRs.}is
A) 625 S LT __
8) 630
C) 64
D)

SPACE FOR

ROUGH WORK
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14.  The angle of elevation of the sun, when | 18.  Which company commitied to invest $150
- thelength of the shadow of a tree is 3 rmillion for the Indian Startups during the Indian

~ fimes the height of the tree, is Prime Minister's Sept., 2015 US trip ?
A) 30%. . AY Ouaicomm o _' _
BY 45°. B) Yahoo
C) 60° C) Google_
D) 90° - - D) Microsoft
15.  LetNbethe greatestnumberthatwill divide | 19-  What is the name of the Second Guided
- 1305, 4665 and 6905, leaving the same Missile . Destroyer which has been
d;g;ts |n N is - A)Y INS Vajram- ' :
A) 4 - BY INS Kochi~
B) 5 C) INS Kolkata
D) 8 i |
- _- ' 20.  Which cities hosted Sou_t}j_ Asian Games
6. The study of fossils is known as in January 2016 ? |
"A) Ethinology ' A) Bhopal and Jaipur
B) Palasontology B) Mumbaiand Kotkata
C) New Dethi and Pune
C) Synecology -
: it
B) Ombrology . D) Guwahati and Shiliong .. |
o 5 | 21, Wh t the thir
© 17,1 Who has been elected as the President of 21 :J:r K;Ztc ?Jtntc?: I{S)f iicf;dm‘;?;:?m:ss:; Ie(:
- Cricket Association of Bengal (CAB)in} . . g y P g
0157 o -1 planes in the world with only the US and
N S .. Chinaahead:ofit ?. S
A) Sourav Ganguly_ A) France
B) Anil Kumble B) India
C) Sunil Gavaskar C) Germany
~ D) Mohd. Azharuddin . D) None of the above opilons "
SPAGE FOR FOUGH WORK_
4 SC-B
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22
L cap|tal of current state of Andhra Pradesh 7

23.

24,

25,

Whlch mty is being developed a5 the new

A) Hyderabad

B) Amaravatl _ -
C) Vlshakhapatnam .
333 None of the above o;mons

Garampani sanciuary i located at

“A) Junagarh, Gujar"at

B) Diphu, Assam '

©) Koh:ma Naga!and o

D) Gangtok, Ss_kklm_ Lo

- Ashoka’s ‘Dhamma’ or ‘Law of Piety"

A) had the essence of all religions

B) was a revoit against inefficiency in the
Buddhist Sangha

C) was a new religion which he founded
after the Kalinga War

D) laid emphasis on following a strict set
of rituals

Which two countriés have voted against
a Feb. 2017 UN resolution to impose
sanctlons against Syria over its aileged
use of chemical weapons 7.

A) US and Russia
B) US and France
C) Russia and China
D) France and China -

26_.. .

27.

28,

IT
Which country has recently. unveiled a
project dubbed "Mars 2117, under which it
aims to establish the first inhabitable
human settiement on planet Mars by year
21177

A} China

B) Japan =

C) UAE

D) SouthKorea ~~ =

Daniel Ortega has been sworn in for a third
consecutive term as President of which
Central American Country ?

A) Costa Rica
B) Honduras
C} Nicaragua -

. D} El Salvador

Which among the followmg a;rports has
claimed that it has become the first
aerodrome in the world to adopt unigue
performance and benchmarking digitaf
platform, Arc, which helps in tracking and

' monitoring building performance ?

A} Indira Gandhi international (1GI) Airport,
Delhi -

B) Babasaheb Ambedkar International
Airport, Nagpur _

C) Sardar Vallabhbhai Patel International
Airport, Ahmedabad '

D) Lokpriya Gopinath Bordotosintemattonat o
Airport, Guwanati - -

SPACE FOR ROUGH WORK
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20, "Sot:_ia!isi”-, “Secular’; “Unity and lntegrity - 32.-' Vincent has a paper route. Each"mordih"g,_
of the Nation” [to reptace only. “Unity of he delivers 37 newspapers to customers
the Nation”], were added in the Preamble in his neighborhiood. 1t takes Vincent
as per which Amendment to the indian 50 minutes to deliver ali the papers. If
Constitution ? Vincent is sick or has other plans, his friend
, \ o Thomas, who lives on the same street, will
A) Thirty sighth Amendment 19_?5 sometimes deliver the papers tor him.
B) Forly second Amendment 1976 From the above data, which of the following
C) Thirty first Amendment 1973 statements must be true ? _
' S A) Vincent and Thomas live in the same
D) Forty fourth Amendment 1978 nelghborhood
- R B) Ktakes Thomas more than 50 mmutes
30, Which Nation won Da\ns Cup in 2016 7 to deliver the papers
A) Switzerland C) tt‘ls dark olutsade when Vincent begins
his deliveries
B) Spain D) Thomas would like to have his own
C) Argentina s _pape; routg
D} England- s T '
) Eng 33. Which number pair comas next in the
S S T series 7 _
31 1,_.The hotel is two blocks east of the 4 7 26.10 13 20 16
_ drugstore : -
2 The market is one block west of the
T otel | B) 14 17
3. The drugstore is west of the market. C) 18 14
Ifthe f;rsttwo statements are true the third | - Bys 14
 statementis - o
M Tue 34. Which word does not belong with the
S B others 7 :
B Fa'lse' - o A) Comea
C) Uncertam 8) Retmg
e C) Vision
D) tnsuﬁicsent data D) Pupll
SPACE FOR ROUGH WORK
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35, Complete the missing element of the 38.  Applying for Seasonal Employment occurs

foiidwing series :

when a person requests to be considered
for a job that is dependent on a particutar

ErmE { T i B [LLJ > 1L ' season or time of yaar. Which situation
NN = LLJ = B
Seasonal Employment ?
(1) (2) 3) {4 o o
: A} The Ski instructors at Top of the Peak
A) 1 Ski School work from December
B) 2 through March
¢ 3 B) Matthew prefers jobs that allow him to
work outdoors
D) 4 _ S
C) Lucinda makes an appointment with the
beach resort restaurant manager to
36. JAK, KBL, LCM, MDN, . . . .
interview for the summer waitressing
A} OEP position that was advertised in the
newspaper
B} NEO pap __
0 MEN D) Doug's ice cream shop stays open until
11 p.m. during the summer months
D) PFQ AR
| 39, QAR, RAS, SAT, TAU,
37. FAG, GAF, HAIL, 1AH,
A) UAV
A) JAK
- B) UAT
B) HAL
T
C) HAK ) TAS
D) JAI D) TAT
SPACE FOR ROQUGH WORK
A -7- SC-B
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40 M o 43. - Two students appeared atan exammatzon
- gorblfiur means fan belt | One of them secured 9 marks more than
naorbl " f : the other and his marks were 56% of the
pixngorbl means ceiingan. . sum of their marks. The marks obtained
arthtus! means title roof by them are
tt 11 l?
Which word could mean cellmg tile A) 39,30
A) gorbltusl B) 41,32
B} flurgorbl . C) 42,33
C) arthflur - D) 43, 34
D) pixnarth |
_ a4, Find the number of triangles in the givén
41. The town of Paranda is located on Green figure.
Lake. The town of Akram is West of
Paranda. Tokhada is East of Akram but
West of Paranda. Kokran is East of Bopri
but West of Tokhada and Akram. i they A) 8
. o \ . B) 10
are ail-in the same district, which town s C) 12
¥
the farthest West ? D) 14
A) Paranda - _
. 45. Choose a figure which would most closely
B) Kokran resemble the unfolded form of Figure (2).
C) Akram “". T FREETRT TR
. Ny
D) Bopri
X Y Z.
42. Getodd one out. @E E:[{g S:ég
A) YWU -'
(1) (2} (3) {4)
B) NLJ Ay 1
" C) KIF. B) 2
C) 3
D} VTR D)4
- SPACE FOR ROUGH WORK
A 8-

sC-8
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Each-of questions 46 to 50 are basedonthe | 49, . Who among the foi%owmg are ihree Iady |
information given below & . : _ members 7.

8 persons E, F, G, H, ,J; K'and L are seated |~ ay g HandJ
around a square table - two on each side. : wo

. R _ . B) E,Fand G-~ _
There are 3 ladies who are not seated nextto each | S
JisbetweenLand F. - D) C, HandJ -
G is betweenland F. ' ' | S
H, a lady member is second fo the "'?f_r ofJ. ' 50.  Who among the fol%oweng is seated between' g
F, a male member is seated opposite to £, a lady EandH? '

member
A} F

There is a lady member between F and ! _
B) |

46. Whoamong the foliowing is {o the immediate o
left of F 2 C . - Ok S
NG © D) Cannotbe determined .
B o -' o
) o §1. *Choose the most appropridte words from "
D) H o ~ the options given below to complete the- .
o (R following sentence : SR

47. Whatis true about J and Ko Female sparrows and rmmarures are :
' while the typical adult male. sparrow rs-'-._. S
.- byits markings: a black bib; a grey
cap, and white lines trarfmg down from the
mouth.

A) Jismale, Kis female .~ -

B) Jisfemale, Kismale ... .

-C) Bothare femate L

D)Botharemale A)'semewhatr -. hohd'escript-;_- easi'!y:f__ _

- - recognized - Lo R
48. How many persons are séated between

Kand F ? __ _

A1 e : C) considered: te be endangered

B)2 B ' character;zed

B) difficult to spot, better camouflaged

C) 3 _ o __ | D} comparatlvely smail made maore
Dy4 o ' conspicuous : '

SPACE FOR ROUGH WORK
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83.

Find the best correction for the underiined
sentence from the four dptions given below:
Under a provision of the Constitiition that
was never applied. Congress has been
i ali vention for ideri
possible amendments. to. the document

when formally asked to do it by the .

legislatures of two-thirds of the states.

A) was never applied, Congress has been |

required to call. a convention for
considering possible amendments to the
_document when formally asked to do it

B) was hever applied, there has been a

requirement that Congress cail a
convention for consideration of possibie
amendments to the document when
- asked to do it formally

C) has never been applied, whereby
Congress is required to call a convention
to consider possible amendments to
the document when formally asked to
do so .

D) has never been applied, Congress is

~  fequired to call a convention to consider

. possible amendments to the document
“when formally asked to do so -

Statement : Should all the drigs patented

~ - and manufactured in Western coumntries be

first tried out on sample basis before giving

_ license for sale o general public in India?

Arguments : o
l. Yes. Many such drugs require different
doses: and duration for Indian
population and hence it is necessary,
Il. No. This is just not feasible and hence
- cannot be implemented.

. Choose from the foliowing
A) Only argument lis strong

B) Only argument Hl is strong
C) Eithertorlis strong
) Nenher ! nor H |s strong

- 54,

.. many variations of Hmdmsm,-and_ fo_ur_-

B8,

_ A Huge ma;orzty 84 percent -

A) CuiiUre,_: Traditions. and Customs of

IIIIEIIIIIIIIIIIHEIIH

“of the:
populahon identifies as Hmdu There are

predominant sects - Shaiva, Vaishnava;
Shakteya and Smarta. About 13 percent
of Indians are Muslim, making it one of the.

largest Islamic nations in the world:
Christians and Sikhs make up a small.
percentage of the population, and there are -+
even fewer Buddhists and Jains.

The passage best supports the statement
that -

India are diverse |
B) Indiais known as a multilingual country
C) India s identified as the birtplace of -
Hinduism and Buddhism

D) India Is a country where dwarsny in
religion exlsts___ L

Choose the appropriate answer to .
complete the following sentence |-

To those of us who had a[ways thought
him timid, his came asasurpnse

A inabilty

B) inevitability
C) intrepidity

D} inertness

SPACE FOR ROUGH WORK

w10~




57.

s

56..

Three ladies X, Y and Z marry three men

a doctor, C is not a doctor andAisa lawyer.
Ontly monogamous- relationships are
permitted. Then which of the following
statements is correct ?. o

A) Y is married to C who is an engineer
B) Z is married to C who is a doctor

C) Xis married to a doctor

D) None of the above options

Arrange sentences A, B, Cand D between
sentences 1 and 6, to form a logical
sequence of six sentences.

1. The new economic pOIicy comprises { - -
- b9,

the various measures and changes
introduced since July 1991.

A) There is a common thread running
through alt these measures

B) The objective is simple — to |mprove

the efficiency of the system.

C) The regulatory mechanism involving
multitude of controls has fragmented
‘the capac:lty and reduced competxtron
even'in the private sector.

D) The thrust of the new policy is towards -

creating a more competitive
environment as a means 1o improving

“the productivity and efficiency of the | -~ -
. QUISLING : BETRAY

geonomy.

6. Thisis to be activated by removingthe |

barriers and restrictions on the entry
and growth of firms.- '

A) DCAB B) ABCD
C) BDAC D) DCBA

. 58,
A, Band C. X is married to A, Yisnot |~
‘matriedto an engmeer Zisnot mamed o}

60.

IT

Correct the underlined part of the sentence

by choos:ng the correct opt:on

Bombast is when high sounding wcrds for'
ffect.n itabili 3

A) is when high sounding words for effect,

not suitability, are used

B) is the use of high-sounding words for
effect rather than for suitability

©) is where high-sounding words are used

for effect not suitability
D) is the using of high-sounding words for
effect only '
Pick the word from the four options which
is most nearly opposite in meanmg to the -
boid word. E

'RECALCITRANT
A). feckiess B) yielding.
C) sombre

D) polished

The question below consists of a pair of
refated words followed by four pairs of
words. Select the pair that best expresses
the relation in the original palr .

A) taunt provoke
B) mcept:bn . termmataon
C) juggernaut : '-cmsh.

D) obstinate preserve .

SPACE FOR ROUGH WORK
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SECTION -~ B -

INFORMATION TECHNOLOGY

I

Choose the most approprlate Opt:oh

61. leen an undlrected graph G with V
vertices and E edges, the sum of the
~degrees of all vertices is
A)E '
C) V

B) 2E
D) 2v

62, Whtch of the fotiowmg is'an advantage of

agjacency list representation over adjacency

‘matrix representation of a graph ?

A) Inadjacency list representation, space
is saved for sparse graphs.

B) Deleting a vertex in adjacency list
representation is easier than adjacency
matrix rep{esentat;on

- C) Adding a vertex in adjacency fist |

- representation is easier than adjacency
matrix representation.

D) Altofthe option_____ .

63. A path in graph G, which contains every

vertex of G once and oniy once?
A) Eular Circuit

B} Hamiltonian Path

C) Eular Path

D} Hamiltonian Circuit =~

64. What are the appropriate data structures |
for graph traversal using Breadth First |

Search {BFS) and Depth First Search (DFS)
algorithms ?

A) Stack for BFS and Queue for DFS
B) Queus for BFS and Stack for DFS
C) Stack for BFS and Stack for DFS
D) Queue for BFS and Queue for DFS

65. In a given follo'wm'g graph among the
foliowmg sequences

) abeghf
1) abfehg
) abthge -
IV} afghbe"

Which are depth frrst traversais of the
above graph? -

A) 1, Itand iV only

- B) l'and IV only.
C) U, Hland IVoniy_
D) kL llland IV only

66, Considering the follow;'hg:g'ra"p'h which one
... ofthe folfowing set of edges represents all
'~ the brzdges of the gwen graph'P

(ab), (o)
B) (a,b), (a,c)
C) {(c,d), {d,h)
D} (a,b)

SPACE FOR-ROUGH WORK
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68.

69.

70.

7.

- Which of the. feﬂowing. statements is/are

"TRUE ? . o

S1: The exustence of an Euler circuit
implies that an Euler path exists.

52 : The existence of an Euler path
implies that an Euler circuit exists,

A) Stistrue

B) S2is true -

C) S1 and S2 both are true

) St and 82 both are Fa?se

A connected ptanar graph divides the plane
into a number of regions. If the graph has

eight vertices and these are linked by 13 |

edges, then the number of regions is:
Ay 5 B} 6
c) 7 D)8

Power set of empty set has exactly
subsel.
A) One
C) Zero

B) "t"wo
D) Three

What is the Cartesian product of A = {1, 2y .f .

and B =({a, b} ?

A) {(1,8), (1,b), (2, 3), (b, D))
(1, 1), 2 2), (a a), (b, b}

C) {(1; ), (2, a), (1, b), (2, b))}

D) ((1,1); (&, ), (2, @), (1, b)}

What is the Cardinali't_y of the Power set of

theset{0,1,2)7
A) 8
C)7

B) 6
D)9

72.

73.

74,

75.

76.

IT

Let G be a simple connected planar graph
with 13 vertices and 19 edges. Then, the
number of faces in the planaf embeddmg
of the graph is -
A) 6

09

D) 18

Whlch ofthe following statements is false ?

A) (P AQYV(~P AQ) v(P A~Q) is equal
to~Q A~P . '

B} (P AQ)v{~P AQ) v(P A~Q zsequai
toQvP

C) (F' /\O) v (~P AQ) v(F’ A~Q)|sequai
toQ v({P A~Q) :
)y (PAQ)v(~P A Q) v(P A~O)isequai
to P v(Q A~P) '

Theré are four bus lines between A and B;
and three bus hnes between Band C. .
The number of way a person roundtrsp by

bus from A to C by way of B will be
. A 12

B)7 .. -

C) 144 D) 264 .

“The number of diagonals that can be dréwn-.

by joining the vertices of an octagon 5. .

A) 28

B) 48
D} None of the option

A partlal ordered relation is trans;twe

reflexive and

A) antisymmetric .
8) bisymmetric
C) antireflexive
D} asymmetnc

SPACE FOR: ROUGH WORK
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7. LetN= 4.2.3.. e

U iollowing subset is totatly ordered ?
L A(2,6,24)
oy '(2'.'9,16). -

B) (3,5, 15)
D) (4, 15, 30)

. tBisa Boo!ean algebfa then which of the
' fottowzng is true ? -

L A) Blsaﬂmte but not cOrﬁp!emented lattice.

o __B) B s, a f;mte comptemented and
' d:stnbutwe Iat!ice

_ complemented fattice. -
':_D) B s not distributive lamce

79, i R is a refatuon m F{elatlonal Dafa Modef
Lo and A,, A2, . A ‘are ‘the attributes of
“relation’ R, what is the cardinality of R
- expressed in terms of domairi of attributes ?

. M).IR}s|dom(A) X dom(A,)... dom (A)I
B) |m>gdom(A)Xciom(A)

80, -lanndBaretwosetsandAU B- AnBI|
- then - |

81 The re!at:on{(? 2% (1 3), (3 1) (1 1) @ 3). [

T 82),(14), (4,2), (3d)is
_ A)-Reflexive. - B). Transntwe

D) Asymmetnc

NCALIE max(ldOfB(A)H‘mm(Az)l *dom(“)') o
D) Rl=mindomi®)L | domi.. Adomia)p |

il : 82, ..
o be ordered by dw:srb:hty. whzch of the|

AR

Let L.be a lattice. Then foreveryaandbin
L which one of the fot!owzng is correc:’?

 f A)avb =anb
. B): av(BvC) (avB)vC

Cy aviac)=a

D) av(bvc)-b

The probablhty that tep and bottom cards of
a randomly shuffled deck are both aces is :

o AY 4/52 ><4/ 52

L C) B is a finite,. dlstrlbutwe but not o B) 4/52><3/52

C) 4/52%3/61 .

D) 4/52x4/51

The coupling between different modules of -

‘& software is categorized as follows:

R Contentcouphng
H. Commoncoupimg

Iil. Control couplmg

o\ “Stamp couplmg

V. Data coup[mg

Coupling between medutes canberanked -
in the order of strongest (least desirable) -
to weakest (most desirable) s follows:
A) HHIHVY |

By VAV

C) VALY
D) IV-IIV-1I-

0 S_ymmet_r'ic:

4
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85, Which of the foiiowmg stataments are | 87. The Functson Point (FP) ca%cuiated for
CTRUE?- ~ software projects are oftén used to obtain
{, The contextdlagram should depict the an estlmate of L;nes of Code {(LOC)
system as a single bubbie. ' required for that proj ject. Which of the
il. External entities should be identified | followmg statements ;s FALSE in this
clearly at all levels of DFDs. '_ context 7. .
ii.l. Control information should not be A) The relatzonsmp between F—'P and LOC
_.represented ina DFD
: dependsonthe programming language
IV. A data store can be connected either | - used to implement the software. '
to another data store or to an external |- R -
entity. . __ - B)Y LOC requirement for an assembly
A) fand IV B) fland Nl language implerentation will be more
C) land hi Dy |, 1l and for a given FP value, than LOC for
. impiementation in COBOL.
86. The following program is to be tested for C) On an-average; one LOC ‘of G+
~ statement coverage . provides approximately 1.6 times the
begin functionality of a single LOG of
if (a==b) {S1; exit} - FORTRAN c
else if (== d) (52;] D) FP and LOC are not related to each
gise {83 exit} other _
54, :
end S . 88. The avallabuhty of comptex soﬂware is90%.
The test cases T1, T2, T3 and T4 given its Mean Time Between Fallure (MTBF) is
below are expressed in terms of the 200 days. Because of the critical nature of
properties satistied by the values of | the usage, the organization depioymg the
variables a, b, ¢ and d. The exact values software further enhanced it to obtain an’
are not given. . availability ‘of 95%. In the process, the
Ti:a, b,canddare alt equat Mean Time To Repalr (MTTR) mcreased
T2 :a, b, ¢ and d are all distinct by 5 days o - _
T3:a=bandci=d What is the MTBF of the enhanced'
Té-al=bandc=0 software ? (Choose the nearest option)
Which of the test suites given below CA) 205days .k
gz;s:rr‘zssio'\;erage of statements S1, S2, B) 300 days .
A) T1,7T2, 73 B) T2, T4 C) 500days ~
C) T3, T4 D) T1, T2, T4 D) 700days .
SPACE FOR ROUGH WORK
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HTML (Hypertext Markup Language) has

R

89. 91.  Which of following staterments is/are False ?
fanguage elements which permit certain t. XML overcomes the iimitations in
actions other than describing the structure g;g;zfggsggrﬂgﬁ ta structured way of
of thg web fjocgment. Which one of the - 2. XML specification is not case sensitive
following actions is NOT supported by pure while HTML specification is case
HTML {without any server or client side sensitive. _
scripting) pages ? 3. XML supports user defined tags while
A) Embed web objects from different sites . iy‘& U;:Sng;eédr?c?tngz tc?l%?s'ed e

. a Wil
nto the same page HTML tags must be ciosed.
B) Refresh the page automatically after a A) 2 only B8) 1 only
specified interval C) 2and4only D) 3and 4 only
C) Automatically redirect to another page "
upon download 92. OQutput of following program
D) Display the client time as part of the #include <stdio.fr>
_ int main{)
page '
G . o , inti=35; o
____._90. Consider the HTML tabie definition given prntf(“%d %d %", 44, it i+4);

' below : _ return 0;
< table border=1> }
<tr> A) 765
<td rowspan=2> ab </td> By 567
<td colspan=2> cd </td> Cy777 _
</tr> D) Compiter Dependent
<tr> '
<td> ef </td> . - 93.  Output of following program ?
<td rowspan=2> gh </fd> #include<stdio.h>

pan=z> g void dynamic{int s, ...}

</tr> [ N

. <tr> <td colspan=2> ik </td> printf(*%d *, s}, .
</tr> }
</table> . int main() _

. { o
The number of rows in .each column ahd dynamic(2, 4, 6, 8);
the number of columns in each row are: dynamic(3, 6, 9)
A) (2,2,3)and (2, 3, 2) return 0;
B) (2,2, 3)and (2, 2, 3) } s
C) (2,3, 2) and (2,3,2) A) 23 B} Compiler Error
D) (232)and(223) C) 43 D) 32
SPACE FOR ROUGH WORK
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Output of following program 95. Assume that float takes 4 bytes, predict
#include <stdio.h> the output of following program.
int main() #include <stdio.h> :
intx; {
.Of; = %X: float arrf5] = {12.5, 100 135 80.5, 05},
ptr = 0;
printi(* x = %d\n”, x); float "ptr1 = &arr[0]:
printf(" *ptr = %din”, prr)' float "ptr2 = pir1 + 3;
Pt += 5, printf(“%f ", “otrd);
pnntf(ﬂx = %dtnﬂ, X); “00 7] 2 iri
printi(* ‘ptr = %A\, *ptr); printf(“%d", ptr2 - p r)
{("ptri++; return 0; -
printf(“ x = %d\n”, x}; } _
printf(“ "ptr = %d\n”, *ptr); R -
return O; A) 90.500000 3 B) 90.500.000 12
} C) 10.000000 12 D) 0500000 3
A) x=0 ' .
“ptr =0 96.  Assume that size of an integer is 32 bit,
X Tri 5 What is the output of following ANSI C
xp= g | program ?
otr = 6 #include <stdio.h>
B) x = garbage value struct st
*ptr =0 _ {
X= garbage value :
ptf — it x; _
X = garbage va!ue static int y;
*ptr = 6 k
C) x=0 . .
"Dtr = 0 int main()
X=5 {
*ptr =5 printf(*%d”, sizeof(struct st));
x = garbage value return 0 '
*ptr = garbage value '
D)yx=0 /
*ptr = 0 A) 4
Xx=0
ptr = ¢ B) 8 :
X=0 C) Compiler Error _
ptr =0 D) Runtime Error” =~ 0
SPACE FOR ROUGH WORK
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97.  Consider the following C declaration 99.  Give the Output
o w StrUCt {1 #include<iost
short s[5]; include<iostream:>
union { using namespace std: _
float y; class Base
long z;
Ju; (
bt | public :
" Assume that objects of the type shont, float int x, y;
and long occupy 2 bytes, 4 bytes and 8 o
bytes, respectively, The memory public: o
requirement for variable t, ignoring Base(inti, intj){ x=iry =j: }
alignment considerations, is _
A) 22 bytes 5 _
B) 14 bytes class Derived : public Base
C) 18 bytes {
D) 10 bytes public:
98. #include<stdio.h> Derived(int i, int j):x(i), y() {}
struct st void print(} {cout << x <<""<< y; }
{ :
intx; !
struct st next; int main( VOf'd)_
) {
int main L
{ 0 Derived (10, 10); -~
struct st temp; q.print();
temp.x = 10; return 0;
temp.next = temp; _
printl(“%a”, temp.next x); /
} rel'um O,' A) 10 10 i
A) Compiler Error B) Comp'iier Error
B) 10 C) 00
C) Runtime Error
D) Garbage Value - _ D) None ofthe option =
SPACE FOR ROUGH WORK
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100. Give the Output

#include <iostream>

using namespace std;

class Basel [ '

public: _

~Base1() { cout << “ Basel’s

~ destructor’ << endl; }

 class Base2 { .

. public:
~Base2()
destructor” << endl; }

2 |

class Derived: public Basel, public Base2 { |

public:
~Derived(}) { cout << " Derived’s
destructor” << endl; }

)

int main(}

{
Derived d;
return 0;

}

'A) Baset’s destructor

o Bas'e:_2"'_s._'d_ést_rdc'tc:jf:_

. t)e.rivéd"é déstructdr_'.'___

B) Derived's destructor. .
Base2's destructor
Base1's destructor

C) Derived’s destructor

D) Compiler Dependent

{ cout << “ Base2’s

It
101.  Which of the following is/are true about
packages in Java ? _

1) Every class is part of some package.

2) Al classes in afile are part of the same
package. )

3} if no package is specified, the classes
in the file go into a special unnamed
package.

4) It no package is specified, a new
p'a'ckage.is created with folder name of l
class and the class is put in this
;jackage. o

Ay Onlyt,2and3 . - .

B} Only 1,2and'4 -

C) Only 4 o

D) Only1and3 . - -

102.  Which of the following is FALSE about

abstract classes in Java 7 _
" A) I we derive an abstract class and do

not implement all the abstract methods,
then the derived class should also be.
marked as abstract using ‘abstract’

~ keyword. _

B) Ab_stract classes can have constructors.

C) A class can be made abstract without
any abstract method.

D) A class can inherit from multiple
abstract classes. o

SPACE FOR ROUGH WORK
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103,

104.

Which of the following is true about
Interfaces in java ? o
1)} An interface can contain following type
of members _
pubhc statzc fma! fleid% (i.e.,
_ constants) _

defau!? and statrc methods with
" bodies o
2) Aninstance of interface can be created.

3) A class can :mplement multipte }

" interfaces.

" 4) Many classes can 1mpiement the same |

interface.

CA)1,3and4
B) 1,2and4 ©

C) 2,3and 4
D) 1,2,3and4 -

Consider- three processes (process :

id 0, 1, 2 respectively) with compute time

. bursts 2, 4 and 8 time units. All processes :
... arive at time zero. Consider the Longest |-
Remammg Trme First (LRTF) scheduling |

- :algonthm In LF!TF ties are broken by giving

- priority to the process with the lowest ':_

processid. The average tum around timeis:

' AY 13umts__'___
B) tdunits

C) tsunits

. D) 16 urits

105,

fT T
Consider three processes, al arriving- ét
time zero, with total execution time of 10,
20 and 30 units, respectively, Each

process spends the f;rst 20% of execution
time doing /O, the next 70% of time doing

_computation, and the last 10% of time doing
/0 again. The opetrating System uses a

shortest remamlng compute time first
scheduling algorithm and schedules a new
process either when the running process
gets blocked on /O or when the running
process finishes its' compute burst.
Assume that all /O operations can be
overlapped as much as possible. For what

.. percentage of time does the CPU remain

idle?

A O0%

- 106.

B) 10.6% - . ..
C) 30.0%
D) 89.4% -

Consider three CPU-intensive processes,
which require 10, 20 and 30 time units and
arrive attimes 0,2 and 6, respectively. How
many context switches are needed if the
operating system tmplements a shortest
remaining time first scheduling algorithm?
Do not count the context switches at time
zerg and at the end, '

Ay 1

B) 2
¢)3
D) 4

SPACE FOR ROUGH WORK
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107.  Which of the fotlowing process scheduling | 110. Which one of the foliowing is the function
. algorithm may lead to starvation ? of a multiplexer ? pe
A} FIFO A) To decode information
B) Round Robin B} Toselect 1 out of N input data sources
C) Shortest Job Next and to transmit it to single channel
D) None of the option C) To transmit data on N iines
- D} To perform serial to paraliel conversion
108. A scheduling algorithm assigns priority L .
proportional to the waiting time of a Ht. Ep"d.igitaf _l'c)gic,' i_f A,QB_%C’ then which
process. Every process starts with priority one of jhe foliowing is true?
zero (the lowest priority). The scheduler A) A®C=B |
re-evaluates the process priorities every B) B&C=A
T time units and decides the next process C) AeBaC=0
to schedule, Which one of the following is D) Both A) and B)
TRUE if the processes have no I/O _
B operatlons and all arrive at time zero ? 112, ‘A8 clauseis used in SQL for _
A) This aigonthm is equzvalent to the first- Ay Seiect;on operanon '
- come_-?s_rst serve_algorsthm_._ B) Hename operatfon
. B) This algorithm is equivalent to the C) Join operation -
round-robin algorithm, - =+ . A
T L .D) Pro;ectlon operatlon S
~ C) This afgorithm is equivalent to the . o o
- shortestjob-first algorithm. 118, Related fields in a database are grouped
.. D) This algorithm is equivalent to the : toforma . . ... -
o shortest~'remain'ing-time~fi_r:5t algorithm, o A) data P S
109. Which one of the following is true ? B) datarecord: " -7
_A) NAND gate and AND gate both are CCymenu T
. universal gates D) bank
B) NOR gate and OR gate both are | . . - . . .. ..
universal gates 114,  Cross Productis a el D
C) NAND gate and OR gate both are A) Unary Operator
universal gates B} Ternary Operator
D) NAND gate and NOR gate both are C) Binary Operator o
universal gates D} Notan Operator
SPACE FOR ROUGH WORK
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A table omed w;th rtseif |s caifed

A} Join
)Selfdom -

":'_'j:_'C) Outer Jozrﬁ

a D) Eqw Jom

C0n8|der thejoin of arelation R with refation |

. ..S. iR has m tuples. and S has n tuples,

117.

118,

"then :he mammum size of join is

A} mn
B} mn
C) (m+n)f2
D) (m+n)_

if an SQL query involves NOT, AND, OR

with no parenthesis

A) NOT will e’ evaiuated ﬂrst AND will
be evaluated second: OR will be
evaiuated last. ... . .

* B) NOT wiil be evaluated first; OR will be

evaluated second: AND will be
evaluated last..

) AND will be evaluated 'fi‘rst} OR will be

‘evaluated second; NOT will be
evaluated last.

D) Theorder of cccurrence determlnes the

order of evaluation.

tn tuple relational ca?cu!us P‘l ~> F‘2 i$
equwalent to o

G PR
D) Pt AP

120,

IR
What is the rutining tirne of the foiiowmg :
function (specified as a function 6f the input
value) 7
void Function(int n) {
inti=1;
int §=1,; o
while( s <= 1) {
Mt -

L S=SH

) Ofn) - - - B) O(n%.

D) Oy
0/1 - Knapsack is a well known problem
where itis desired to get the maximum total
profit by placing n items (each item is

- having some weight and associated profit)

into a knapsack of capacity W. The table
given below shows the weights and
associated profits for 5 items, where one
unit of each item is available to you. It is
also given that the knapsack capacity W
is 8. If the given 0/1 knapsack problem is

‘solved using Dynamic Programming,
- which one of the following will be maximum

earned profit by placing the items mto the
knapsack of capacity 8.

Associated Profit

[tem # | Weight

1 1 .3

2 2 5

3 4 9

4 5 11

5 8 18
A) 19 By 18 o
o) 17 S py20.

39,
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